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ENGLISH VERSION

Instruction: (1) Figures on right side indicate marks of question.

(2} Necessary calculation is a part of your answer.

I (A) The standard mix of a product is as follows:

14

Material kgs. Price per kg./(Rs.)
A 50 4
B 30 4
C 20 5

The standard loss in production is 10% of input units.
There is no scrap value. Actual production of the product

was 8,100 kgs.

Actual consumption of material and. cost were as follows:

Material kgs. |Price per kg./(Rs.)
A 4800 4.50
B 3000 3.50
C 2200 4.50

Calculate the following variances :

(1) Material cost variance

(2) Material price variance

(3) Material mix variance

(4) Material yield variance
OR
(A) The standard labour hours and rate per unit of Article-A 14

of Jay Co. Ltd. were as under:

Type of workers Per unit Hours |Rate per hour (Rs.)
Skilled 10 30
Semi skilled 8 25
Unskilled 16 10
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(B)
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The actual production was 100 units of 'A’ for which actual

hours worked and wages are given below:

Type of workers | Total Hours | Total (Rs)
Skilled S | 3600
Semi skilled 840 12,600
Unskilled 2,000 18,000

Calculate the following variances:
(1) Labour cost variance

(2) Labour rate variance

(3) Labour efficiency variance
(4) Labour mix variance

Select the correct answer. 4

(I) The expected cost per unit of input are called

(A) Standard Price (B) Standard Quantity

(C) Standard Cost (D) None of the above
(2) The efficiency variance is also known as

(A) Budget variance (B) Quantity variance

(C) Spending variance (D) Rate variance

(3) The company purchased 2000 kgs. of material for
Rs. 10,000. The material price variance was +400 (F).
The standard price of material per kg. is

(A) Rs. 5.10 (B) Rs. 5.30
(C) Rs. 5.20 (D) Rs. 540
(4) Excess of actual cost over standard cost is a
(A) Favourable variance (B) Unfavourable variance

(C) Abnormal gain (D) None of the above
9 [ Contd...



, S iven 14
« variances from the information 2
¢ v 4 '

2 (A) Find out the sal
below |
(1) Sales value variance (2) Sales price variance |
(3) Sales volume variance  (4) Sales \nhf“;'-‘{i{r?nf; dz?ince
Item |  Standard | Actual
_’Qnaﬁ-ﬁh | Sales value Ouanity | Sales value
Units per unit (Rs) | Units per unit [3)
T o ag ] 30
A 200 | 30 | 160 | 3
| 400 | 16 | 240 | 8
| ' ; .-
c | 100053 ! . 400 | 3.60
L 1600 800
OR

(A) The details of overheads for March month of Dhruv Ltd. 14

are as under:

Particulars Standard Actual
Hours 36,000 40,000
Production (units) 18.000 24.000
Days 25 26
Fixed overheads (Rs.) 72,000 80,000
Variable overheads (Rs.) 36.000 50,000

Calculate the following variances:

(1) Vanable overheads cost variance

(2) Variable overheads expenditure (rate) variance
(3) Variable overheads cliiciency variance

(4) Fixed overheads cost variance

(5) Fixed overheads volume variance

(6) Fixed overheads calender variance

AE-485 ] 10 [ Contd...



(B) Select the correct answer:

(D

(2)

(3)

AFE-485 1

Which of the following statements is correct as

regards fixed overhead variances?

(A) There can be no cfficiency variance in fixed
overheads.

(B) While computing fixed overheads variances. it
1S not necessary to work out recovery rate.

(C) As fixed overhead always remains fixed, there
can be no variance as regards fixed overheads.

(D)

Fixed overheads budget variance is the difference

between total fixed overheads as per budget and
actual fixed overheads.

If actual sales is 2500 units, budgeted sales is 2000
units, actual profit per unit is Rs. 10 and'bu_cigeted

profit per unit Rs. 8, what will be sales margin price
variance?

(A) — 10,000 (U)

(B) + 10,000 (F)

(C) + 5,000 (F)
(D) — 5,000 (U)

Fixed overheads volumc variance —

(A) Standard Rate (Budgeted Quantity ~Actual Quantin)

(B) Standard Rate (Actual Quantity -

Budgeted Quantity)

(C) Actual Rate (Budgeted Quantity — Actual Quantigy)

(D) None of the above
11 r
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(B)

AE-485 ]

Hardi Mfp. Co. Ltd. provides the following information

relating (o its production:
Y__l‘:lr Total Sales (Rs.) | Total Cost (Is.)

2020 4.50.000 4.05,000
2121 5.40.000 4,777,000
Calculate:

(1) Profit Volume Ratio
(2)  Fixed Expenses
(3)  Profit when sales are Rs. 4,05.000
(4) Sales when losses are Rs. 9.000
(5) Sales to earn profit of Rs. 90,000
(6) Break-even point.

OR

14

Write short notes on: 14
(1) Advantages of Marginal Costing
(2) Key Factor
(3) Profit-volume Ratio
Select the correct answer: 4
(1) If PV ratio is 60%, Margin of salty is 20% and sales
is Rs. 3,00,000, the profit will be as under:
(A) Rs. 45,000 (B) Rs. 54,000
(C) Rs. 27,000 (D) Rs. 18,000
(2) Wﬁich of the following formula is false, to find out
the profit?
(A) Profit = Contribution — lixed cosl
(B) Profit = Sales (Fixed cost + Variable cost)
(C) Profit = Sales — Variable cost
(D) Profit = Margin Salcly ~ P.V. Ratio
I Contd
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(3) IFPVratio is 500, Margin of safety is 40% and sales

is Rs- 30.000, Fixed cost will be of how much rupees’
(A) Rs. 25,000
(B) Rs. 20,000
(C) Rs. 15,000
(D) Rs. 10,000
(4) Contribution =
(A) Fixed Cost + Profit
(B) Fixed Cost — Loss
(C) Selling Price — Variable cost
(D) All of the above

4 (A) Sanvi Co. Ltd. is considering to purchase a machine. 14
Two machine viz. 'A' and 'B' are available, each costing
Rs. 7.50,000. An estimated life of each machine is 5 years.
There is no scrape value. The company's required rate of
return is 10%. The tax rate applicable to the company is

50%. The expected earning before depreciation and taxes

for the two machines are as follows:

Year ; Machine-A Machine-B
i (Rs.) (Rs.)
_“TE M——;)l(),OOO 3,60,000
2 E 3,90.000 3,00,000
3 ! 2.70,000 3,90.000
4 3,00,000 2,10,000
5 2.10,000 | 1,80.000
AF-485 | | | 13 [ Contd...
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(1) Pay-Back Period

(2)  Rale of Return on original investment.
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Taxation is 1o be regarded as 50% of profit, which machin.

would you recommend? Why?

14
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(B) Select the correct answer: 3
(1) Calculate Pay Back Period:
Capital Investment
Tax Rate ..oooeveeiiiniriiiiiecc e aesaes 50%
Profit after 20% depreciation ....... Rs. 50,000
(A) 4 years (B) 5 years
(C) 10 years (D) 8 years

(2) While evaluating capital investment proposals, the

time value of money is considered 1n cash of

(A) Net Present Value method

(B) Pay-Back Period method

(C) Average Rate of Feturn method
(D) None of the above:

(3) A projects net value is + 10,000 (F.) at 10% discount
factor and — 15,000 (Un.) at 20% discount factor.
Internal Rate of Return will be

(A) 14% (B) 18%
(©) 10% (D) 16%
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